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L. E. Watson

Subject: Performance Calculation From: J. S. Thompson

This describes the problem I outlined to you in a little more

detail,

1. From Toller-Gray program obtain

T (£,2) & To(S,2)tor 0520 § 200K /m.m.

ouef -15°5 £ s+30°; 5°.

on cards,

2. Make a least squares fit of a polynomial to these, such thatl'l'.r‘-T,.,l

3. Using George Judd's program: S o.008

For an aséigned 2 fﬂ. compute

o zUC.q‘S.,IZ)= 1,+-3¢
and A%(Zgzﬂ) ‘ojs-(--—-a_
4. Compute Typm (R,P)= L {7.54-7ry[z,(k‘3)+-a_]
2s.4Tr [ x.:,(z.,g).«-?a]
wd T (R¥): o {25 4Tp[Ys k) +Fal
254N P [Y, (& Y)+ 2a]

where L= R ma
and  Ya R F
5. For SQ’S}, fixed average the eight vaslues of TM obtained by i
assigning values toﬁ 0sBsus 4 This will give T (S S, R, V)

Do the same to obtain TSM (2‘ 52, r, 7")
6. Compute

T, = fT,(s 2) Tewm (.80, #)

\/ T (sz,p)i?;,,\ (2 2RP)

RS

Kt f
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7. Average T (z SL'RV)over all & and S
for S ‘Q,Sq-o HD . This will give h‘ (R J))

Do the same to obtain T.‘ (K V)
8. Form T(R P) —{Tx(—R V)*_ﬂ“ (R 7))

9. Solve simultaneously with AIM (3’) to obtain T (‘R)

10. Assigna = 50x 10-6 to give P, (R)

Assign a = 125 x 10"6 to give P, (R)

P2 (r)

Pl (R)

1. Compute K% (R) =

Do 3 through 1l for 0§ R€ 5; 0.5 and plot. % (R) versus R,

S. Thompé#on

T ¥ B %




	Page 1
	Page 2

